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Import javax.swing.JOptionPane; run:
public class AsimpleJavaProgram { My first Java program.
public static void main(String [ ] a) The sumof2and3=5
{ System.out.printIn(“My first Java program.”); 7+8=15

System.out.println(“The sum of 2 and 3 =* +5);
System.out.println(*7 + 8 = *“ + (7 + 8));
JOptionPane.showMessageDialog(null,” Well Done" );
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System.out.printin("My first Java program.");
System.out.printin("The sumof2and 3=" +5);
System.out.printin("7 + 8 ="+ (7 + 8));
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System.out.printin(*My first Java program.");
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System.out.printin(*The sum of 2and 3 =" + 5);
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System.out.printin("7 + 8 =" + (7 + 8));
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JOptionPane.showMessageDialog(null," Well Done" );
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byte — short - int — long - float — double — boolean - char.
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package weeklywages;
import java.util.*;
public class WeeklyWages {
static Scanner console = new Scanner(System.in);
public static void main(String[] args) {
double hours;
String name;
System.out.print("Enter the name : ");
name =console.next();
System.out.print("Enter the working hours : ");
hours = console.nextDouble();
System.out.printin();
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String Str;
Str = JOptionPane.showInputDialog(stringExpression);
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Name = JOptionPane.showlnputDialog(*'Enter name and press OK button");
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JOptionPane.showMessageDialog(parentComponent,messageStringExpressio
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JOptionPane.showMessageDialog(null,""Hello Java', "'welcome"’,
JOptionPane.INFORMATION_MESSAGE);
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JOptionPane.showMessageDialog(null, **Length =""+L+""\n""+"Width ="+W
+"\n Area = ""+L*W, ""Rectangle'’, JOptionPane.PLAIN_MESSAGE
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package rectangle;

import javax.swing.JOptionPane;

public class Rectangle {

public static void main(String[] args) {

double Length, Width;

double Area, Circumference;

String L, W;

L = JOptionPane.showlnputDialog("Enter The Rectangle's Length");

W = JOptionPane.showlnputDialog("Enter The Rectangle's Width");

Length = Double.parseDouble(L);

Width = Double.parseDouble(W);

Area = Length * Width;

Circumference = (Length + Width)*2;

JOptionPane.showMessageDialog(null, "Length = "+Length + " Width =

"+Width+"\n"+"Area = "+Area +"\n Circumference = "+Circumference);
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